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Part A

Section Id : 92090683
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906134
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 9209064150 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W FgfeiEd uyi & I difve

T geu ¥ feuax Q9 S0 9
o1 U & Wi Us 3,

TGl & FAGR HYY Bl WA,
3R, Bdl Bad 1 Hiel ¥ & |
TR &5 8R! H UH A 3P B,
T1 gt A e off O 9 I
U S Fel fHe, e Y gl [
A gar g1, s Siigdl W@l &l o,
q1d HedHl & HUAS Ulds fearaR |
T srary o1, T4 Ted & 9 4,
AT 6T T 4T, TN BT HidT U7l

Sub questions

Question Number : 1 Question Id : 9209064151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

doR Rl |/ 1 AIgT Ben?

(1 ©8 2 U8
(3) 3 CGE
Options :

92090616401. 1
92090616402. 2
92090616403. 3
92090616404. 4

Question Number : 2 Question Id : 9209064152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farsr forgt =1 wep ot dien =1gT 3v1an?

(1) @R (2) <=1
(3) TR @) aydten
Options :

92090616405. 1
92090616406. 2
92090616407. 3
92090616408. 4

Question Number : 3 Question Id : 9209064153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$id A wWieR fearg fe  —— 1|

(1) ds (2) &Y
(3) FHL (4) SFIE
Options :

92090616409. 1
92090616410. 2
92090616411. 3
92090616412. 4

Question Number : 4 Question Id : 9209064154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®id = a1 sl Tr1 Y1

(1)  wel (2) Tad
(3) WgN (4) HHA
Options :

92090616413. 1
92090616414. 2
92090616415. 3
92090616416. 4



Question Number : 5 Question Id : 9209064155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$id F fg a4

(1) WSS (2) HHAI DI
(3)  HIEAT DI (4) oftaq &1
Options :

92090616417. 1
92090616418. 2
92090616419. 3
92090616420. 4

Question Id : 9209064150 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W FgfeiEd uyi & I difve

T geu ¥ feuax Q9 S0 9
o1 U & Wi Us 3,

TGl & FAGR HYY Bl WA,
3R, Bdl Bad 1 Hiel ¥ & |
TR &5 8R! H UH A 3P B,
T1 gt A e off O 9 I
YU S &8 fHe, ®d 4d 81 T |
A gar g1, s Siigdl W@l &l o,
q1d HedHl & HUAS Ulds fearaR |
T srary o1, T4 Ted & 9 4,
AT 6T T 4T, TN BT HidT U7l

Sub questions

Question Number : 1 Question Id : 9209064151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dolR ¢Rd § &1 gl Ben?

1y s 2 U
3) SR (4) o
Options :

92090616401. 1
92090616402. 2
92090616403. 3
92090616404. 4

Question Number : 2 Question Id : 9209064152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg gt 3 U ot dier =T S

(1) TWR (2) =1
3) TR ) uudan
Options :

92090616405. 1
92090616406. 2
92090616407. 3
92090616408. 4

Question Number : 3 Question Id : 9209064153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FATEPRGmgfFd — 7|

(1) dd® (2) ey
3) gHl (4) S
Options :

92090616409. 1
92090616410. 2
92090616411. 3
92090616412. 4



Question Number : 4 Question Id : 9209064154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIq = HdI Sl JrT Y1

(1) &l (2) Tad
3) W @) W
Options :

92090616413. 1
92090616414. 2
92090616415. 3
92090616416. 4

Question Number : 5 Question Id : 9209064155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid A foed Iar e

(1) dEHl (2) HHAI &I
(3) METDI (4) Gildd &I
Options :

92090616417. 1
92090616418. 2
92090616419. 3
92090616420. 4

Sub-Section Number : 2
Sub-Section Id : 920906135
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209064156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 31yal G & o ®U I IuD] Yav a/d & bl gu Weg & 1y fadwa: fvar &
1Y TSIl 81 IYB! Ped © -

(1) oo 2) BRS
3) fauf @ THIDE T
Options :

92090616421. 1
92090616422. 2
92090616423. 3
92090616424. 4

Question Number : 6 Question Id : 9209064156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T MYl YA & o T4 Q I Yo+ a1 & fobadl gER U3 & 91y fasiva: i &
1Y [T BT §1 ISP gl & -

(1)  fagrem ) PIRSD
3) faufda @) FAHABE T8T
Options :

92090616421. 1
92090616422. 2
92090616423. 3
92090616424. 4

Question Number : 7 Question Id : 9209064157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A dgHE

B. Hgled

c. IR

D. WHHS

e

i fdu 71y fashedl § © T8l ITR &1 99 BT ;

(1) dd A, B,C

(2) dd A,B,D

(3) dd A, CE

(4) Had A C,D
Options :

92090616425. 1
92090616426. 2
92090616427. 3
92090616428. 4

Question Number : 7 Question Id : 9209064157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHYRY YA T IE0 ¢ -
A dgHdE

B. Weled

c. AR

D. WHHG

. fodm

i fgu o fashedl © 9 9l 3T &1 98 Sy :
(1) @dd A,B,C

(2) @&dd A, B,D

(3) &dd A CE

(4) dd A C,D

Options :



92090616425. 1
92090616426. 2
92090616427. 3
92090616428. 4

Question Number : 8 Question Id : 9209064158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & Y g 11 & e St

et-1 (dhgd) I (doHH)
(A) HN (M o
®) faaa@r ay  IqH
(C) W @iy oof
(D) 4H (V) HBI

i fau ¢ fasedl | 9 gl 3T &1 994 DIfI;

(1) (A)-(I1), (B)-(I), (C)-(IV), (D)-(l)
(2 (A)-(IV), (B)-(1), (C)-(IN), (D)-(1)
(
(

Lo

3 (A)-(1), (B)-(II), (C)-(l1), (D)-(IV)
4) (A)-(IV), (B)-(1), (Q)-(IN), (D)-(I)

L—

Options :

92090616429. 1
92090616430. 2
92090616431. 3
92090616432. 4

Question Number : 8 Question Id : 9209064158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 & Y g 0 & e Sife

eli-1 (Thgd) -l (dcHH)

(A) R (M qu
@) faaa@r () ER
() YR iy gof
(D) UH (V) HPHI
Hid f¢u U {9t 1 ¥ Tel I &1 99 I

(1) (A)=(I1), (B)=(D), (C)-(IV), (D)-(l1y

(2) (A)-(IV), (B)-(1l1), (C)-(N), (D)-(1)

(3) (A)-(1), (B)-(I), (C)-(l1), (D)-(IV)

(4) (A)-(IV), (B)-(1), (C)-(11), (D)-(lHry

Options :

92090616429. 1
92090616430. 2
92090616431. 3
92090616432. 4

Question Number : 9 Question Id : 9209064159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e 2| g | fFa Us § -

(1) Wi 2) M
3) @ 4) @
Options :

92090616433. 1
92090616434. 2
92090616435. 3
92090616436. 4

Question Number : 9 Question Id : 9209064159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e 2| g | fFa Us § -

(1) Wi 2) M
3) @ 4) @
Options :

92090616433. 1
92090616434. 2
92090616435. 3
92090616436. 4

Question Number : 10 Question Id : 9209064160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | 6 G1Y G 1| 1 e Sifag

-1 (ETa) Tt -1 (31e)

(A) < STl () dd- bl Yl b3l
(B) TR H Al () R HA
(€) HTd BT Y= g () SIHILIEA
(D) & TTOT HIAT (V) TSI oI

Hid fqu ¢ fadhedl § T IR &1 994 DI

(1) (A)-(I), (BY-(11), (CY-=(1}, (D)-(IV)

(2) (A)-(IV), (B)-(I1), (C)-(1), (Dy-(I)y

(3) (A)-(D, (B)-(11), (C)-(l), (D)-(IV)

(4) (A)-(In), (B)=(11), (C)-(I1), (D)-(1)

Options :

92090616437. 1
92090616438. 2
92090616439. 3
92090616440. 4

Question Number : 10 Question Id : 9209064160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el | & F1Y Gl 1| BT HeE By

-1 (HBT) Tt -1 (31)
(A) o< STl ()  ddd bl Yledd b3l
(B) TR H I ()  URP B
(€) d I &1 Y g () S HIIEA
(D) 1 TTOTR HAT (V) SATST &I

i fau v fasedl & € UEl 39 &1 98- S

1) (A)-(I1), (B)-=(111), (C)-(1), (D)-(IV)
2) (A)-(IV), (B)-(I), (C)-(1), (D)-(In)
3) (A)=(1), (B)-(11), (C)-(1), (D)-(IV)
4) (A)-(11), (B)-(111), (C)-(I), (D)-()
Options :

92090616437. 1

92090616438. 2

92090616439. 3

92090616440. 4

(
(
(
(

Question Number : 11 Question Id : 9209064161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 cm I 9101 o1 & U 319 Tid ®I fUgdl 2 0.6 cm Biodn arell S1¢1 319 e &8 51
39 USHR &1, 7T 11 I GBI J1d Do |

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090616441. 1
92090616442. 2
92090616443. 3
92090616444. 4

Question Number : 11 Question Id : 9209064161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6 cm BT aTd o1 & U 319 Tidd @1 fUgdl H3 0.6 cm B arell B¢l 319 7S &8 151
S UPR §1 715 1151 B G J1d Hiforg|

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090616441. 1
92090616442. 2
92090616443. 3
92090616444. 4

Question Number : 12 Question Id : 9209064162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz sinﬁ':% -3 ”Sta”g ST 1 FR)

ect
(1) % (2) %
® = @ 3
Options :

92090616445. 1
92090616446. 2
92090616447. 3
92090616448. 4

Question Number : 12 Question Id : 9209064162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz sinﬁ':% -3 ”sta”g ST 1 FIR)

ect
15 17
(1) 12 (2) 3
12 2
(3) 4) =

13 5



Options :

92090616445. 1
92090616446. 2
92090616447. 3
92090616448. 4

Question Number : 13 Question Id : 9209064163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% A &I a3 § fdoaa THY H 2 3,300 DI AR T 3,399 g1 W, Halds sare ufd SHG!
YO g1 8

(1) 6WHgH 2 13d4
(3) 194 6HEA @ 294
Options :

92090616449. 1
92090616450. 2
92090616451. 3
92090616452. 4

Question Number : 13 Question Id : 9209064163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% A &I aX ¥ foa THT # z 3,300 Dt AR 3,399 8 U, Hafd =aa ufd SHE!
oo g1 38T 8

(1) 6#HEH ) 199
3) 198 6TEH @ 2a4
Options :

92090616449. 1
92090616450. 2
92090616451. 3
92090616452. 4

Question Number : 14 Question Id : 9209064164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U& gHMER 100 U9 99, 40 U1 & g geg R RS @y Ui a1 g1 39T ary
ufe=rd 1 Hifo (GImed & &1 H 7@ ) :

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090616453. 1
92090616454. 2
92090616455. 3
92090616456. 4

Question Number : 14 Question Id : 9209064164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& gHMER 100 U9 99%, 40 U1 & g geg W o @y Ui al g1 39T ary
ufcrerd 1 Hifo (GIHed & &1 - aF Hg)) :

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090616453. 1
92090616454. 2
92090616455. 3
92090616456. 4

Question Number : 15 Question Id : 9209064165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A smeHt 3R 2 Ted e & &1 10 &9 § 3 I&d €, TaP 2 AeH 3R 3 TS 391
FH D 8 RAT I IDA 81 3 AGH 3R 1 TSHI IH B DI [had g H B Ura?

1 e
1 11— 2) 18—
() 18 () 11
1 9
3 9— 4) 11—
) 11 ) 11

Options :

92090616457. 1
92090616458. 2
92090616459. 3
92090616460. 4

Question Number : 15 Question Id : 9209064165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 3reHt SR 2 dad fadt &M #i 10 39 A & Gad € wdld 2 3eHl 3R 3 I8 Il
&M H1 8 37 H HI TFd g1 3l MSH 3N 1 TSH1 39 B Bl fhdq a7 & & ar@i?

1 2

11— 18—

() 18 @ 11
1 9

3 9— 4) 11—
(%) 1 ) 11

Options :

92090616457. 1
92090616458. 2
92090616459. 3
92090616460. 4

Question Number : 16 Question Id : 9209064166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg - & a1 ofik &1 1S wemefi & o9 Way &1 e § 1@d gu, U 91d difer|

3:81::4:2

(1) 64 2 32
(3) 256 4) 148
Options :

92090616461. 1
92090616462. 2
92090616463. 3
92090616464. 4

Question Number : 16 Question Id : 9209064166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg : : & 12 iR &1 12 wemaii & di9 Hdy & eF § Tad gY, WS J1d B

3:81::4:7

(1) 64 (2) 32
(3) 256 (4) 148
Options :

92090616461. 1
92090616462. 2
92090616463. 3
92090616464. 4

Question Number : 17 Question Id : 9209064167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FofafEa 31 Feaul &1 fifdet 39 R fdar i R Fufa @ifve & 53 9 @ aF-a
fepd i e U FyA O & 1S Y & 9HfUd 9eE § R dlid® &9 9 e a1l g

HUF : UPSC Udiasfi # SRI%d g1 @ SR AFaa g1 81 oo Fafta s o
gdiensti # S %d gl old g

frepd | ot 3 e, Fafia T8  al
- Tt ol B, e A e €

(1)  &ad | UTa- &l &
(2) $ad | 9T $dl &
)
J

(3) SFIH Y PIS UH | T1 1 UTaH &l 8
4) SR PIS UH |11 9T T8l Hdl g
Options :

92090616465. 1
92090616466. 2
92090616467 3
92090616468. 4

Question Number : 17 Question Id : 9209064167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafed 3 Fseyl @1 firdeR 39 W [daR Sifen ofR FRuiRa S & 33 § 3 $H-
e - o U FyE o 1S g & 9fd 938 4 R aIfd® &9 9 e #3dl g

HUYF :  UPSC Udlesfl H ol%d 811 &1 BRU A g g1 $w Fafla s o
gdefsii & swd g oild gl

ey .| et Il B, i A8 §al
- | STl B, Fafta T8 g B

(1)  &ad | U Sl 8
(2)  &ad || UTeH $dl §
3) S HAPIS TS | 11U Bl §
) SHIH A SIS TP | 11 U 6l Hdl &

(4

Options :
92090616465. 1



92090616466. 2
92090616467. 3
92090616468. 4

Question Number : 18 Question Id : 9209064168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fageht &1 a1g § & IuP ufd &1 I3 19 F 918 fb=g 22 fE9raR T ggd 3| Sldfd 39!
U &1 I15 § 6 395 Y3 &1 oFAfed 20 & 915 fohwg 24 Gwrar 4 ugd ¢ | afe HI 9Ei &,
ad faget & uft &1 o=fea FafifGa A P A s

(1) 23 fegmEr (2) 22 feurar
3) 21fRumER (4) 20 feamER
Options :

92090616469. 1
92090616470. 2
92090616471. 3
92090616472. 4

Question Number : 18 Question Id : 9209064168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagdt ®1 a1g & 6 Iud ufd &1 oAl 19 F 912 b 22 GuraR 9§ ugd ¢ | Sdfds Ig&!
U &1 918 & % 39F g &1 oFafed 20 & 918 fbeg 24 Rwmar @ ugd 81 o ST wdl €,
a faget & ufd @1 ol Pl A a Ga A g

(1) 23 feamr (2) 22feamEr
3) 21 feumR (4) 20 fumR
Options :

92090616469. 1
92090616470. 2
92090616471. 3
92090616472. 4

Question Number : 19 Question Id : 9209064169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & e HIMT H RTOQQSOMOFH feraT S1dl €, dd MEDIUM &1 e Uil |
Frafafed & 9 feg ueRr fomar smem

(1 LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090616473. 1
92090616474. 2
92090616475. 3
92090616476. 4

Question Number : 19 Question Id : 9209064169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & T HIMT H RTOQQSOMOFH foRET STdl €, @ MEDIUM &1 He Ul |
Frafafea # 9 f&9 yeR fergr srem

(1) LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090616473. 1
92090616474. 2
92090616475. 3
92090616476. 4

Question Number : 20 Question Id : 9209064170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP!, U Wl B 3R IR S Pgdl ¢ ‘T8 W 3161 & T & U J3 1 9 §'| dd 39
I BT TSHI S TIY T TaH B

(1) dgd (2) Hreft
3) Hi @) Yo
Options :

92090616477. 1
92090616478. 2



92090616479. 3
92090616480. 4

Question Number : 20 Question Id : 9209064170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP!, U Wl B 3R IR S Pgdl ¢ ‘T8 W 3161 & T & U J3 1 9 §'| dd 39
I BT TSHI S TIY T TaH B

(1) dgd (2) Hreft
3) Hi @) Yo
Options :

92090616477. 1
92090616478. 2
92090616479. 3
92090616480. 4

Question Number : 21 Question Id : 9209064171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | F A g | @ e St

-1 (BT & ) Tt -1 (ST
B cRIPIY yitres A a faem
(8) SHRIPHY URHIY] Fail SHTHHRUI () S
() HYF AP d1d ATTIRTcH By iy RFTR
(D) URm yid snfdes wgdn (V) SEl

+rd feu e fasedi & 9 95! TR &1 994 Fifoig:

(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(IN)
(2) (A)-(IV), (B)-(1), (C)-(I1), (D)-(H1y
(3) (A)-(1), (B)-(IV), (C)-(11), (D)-(l1)
(4) (A)-(1l), (B)-(IV), (C)-(I), (D)-(1)

Options :
92090616481. 1
92090616482. 2



92090616483. 3
92090616484. 4

Question Number : 21 Question Id : 9209064171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | 5 |1y gl 1| 671 i sife

-1 (BT & ) Tt -1 (ST
B cRIPIY yitres A a faem
(8) SHRIPHY URHIY] Fail SHTHHRUI () S
() HYF AP d1d ATTIRTcH By iy RFTR
(D) URm yid snfdes wgdn (V) SEl

+rd feu e fasedi & 9 95! TR &1 994 Fifoig:

(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(IN)
(2) (A)-(IV), (B)-(1), (C)-(I1), (D)-(H1y
(3) (A)-(1), (B)-(IV), (C)-(11), (D)-(l1)
(4) (A)-(1l), (B)-(IV), (C)-(I), (D)-(1)

Options :

92090616481. 1
92090616482. 2
92090616483. 3
92090616484. 4

Question Number : 22 Question Id : 9209064172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y 3115 3R (CSIR) &1 WYH Afge AeiHeYd i odi?

(1) e SRE (2) FAcaTyrE! dAded!
(3) TN 4) fagrar R
Options :

92090616485. 1
92090616486. 2
92090616487. 3
92090616488. 4



Question Number : 22 Question Id : 9209064172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy 31 3R (CSIR) B UYH Aigd AeFwd & oi?

(1) e SREr (2) FAcaTynd daHed!
(3) SEUNISUd @) fagrEr R
Options :

92090616485. 1
92090616486. 2
92090616487. 3
92090616488. 4

Question Number : 23 Question Id : 9209064173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 g Sy R &:
®YFI| . HEIdIE!, &N & aiw A siftel g1 & forae! Fgfd didum & siwse
76 1 3(=T7fd PR GRT B 1A B

FUYF I :  HEHGE!, Y9e & Siddg! H, die &1 PR F=aifd U & Tdhdl g
JUSd HYA & fdld |, - iU 10 fawal § 9 9 I 994 $ifeiy

(1) &Y 3RS TR
(2) ®YAI SR 1 S TTEd §
(3) ®Y I GEIE, dichT HYA 1| TTeld &
(4) ®YFITTAd g, dfbd YT 1 9ET B

Options :

92090616489. 1
92090616490. 2
92090616491. 3
92090616492. 4

Question Number : 23 Question Id : 9209064173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R Fy kU U §:

HYFI1 . HERIdE!, 3X $1 gai= A sifterl g1 € et Fgfd dfdurm & siwse
76 &1 Sf=a7id IFUT GRT F I B

FYF Il :  HEIHERE!, UHS & SIddie! H, dic &1 MMEER =did U & Hhdl gl
JUiad HYA & 3P H, A fGu e fAwadl § 9 9t It 99+ Hifelw

(1) ®YF | SR || S 9l e
2) FUTIAR NS Tad &
(3) HUTIYHslE, AP HYA I e &
(4) PUTITAd §, Al HYF 1 BT &
Options :
92090616489. 1
92090616490, 2

92090616491. 3
92090616492. 4

Question Number : 24 Question Id : 9209064174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & we lRw e @:
HYF| 0 AP I TR TISHT (NRHM) 1 HRY 22 30 2008 1 faar mar ur

®YFI: (NRHM) FT I5=0 I g &R 3R Higed P <X &1 92/l gl
IWRITd HYF & Said §, 19 Ru e fdded § & 99 Iugat I &1 994 Sifeg

(1) &Y 3R 1S FER
(2)  HYF 1SR | T T §
(3) Y| Fele, Wi By || Tad &
(4)  HYF | A B, Al HYE 1| HEl 8

Options :

92090616493. 1
92090616494. 2
92090616495. 3
92090616496. 4

Question Number : 24 Question Id : 9209064174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

#9 q1  fag e &:
HYT| ;YR IR IGHT (NRHM) 1 HRY 22 30 2008 1 fasam ar o

BYTIl:  (NRHM) BT 359 Y 7 R SR AGd Jog <R $1 °Al 8
SWRIFd HYF & el H, 7 fGu e fasedl § § el Iugd IR &1 99 Difeig

(1) U SR 1A 9d R
(2)  HYF | 3R 1| T T &
(3) HY| WEl g, dichd HUF 1l TTed §
(4) YT TTAd B, e HY 11 981 B

Options :

92090616493. 1
92090616494. 2
92090616495. 3
92090616496. 4

Question Number : 25 Question Id : 9209064175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3w #1 ¢ 71 & gRI Sf39 $Y 2022 e Siidr 41

(1) sieferar (2) IRmE
3) HH (4) HAST
Options :

92090616497. 1
92090616498. 2
92090616499. 3
92090616500. 4

Question Number : 25 Question Id : 9209064175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFa 29 &1 29 71 F gRT 339 $9 2022 v Sfar U1

(1) 3ffefemn (2) IRmE
3) WA (4) S
Options :

92090616497. 1
92090616498. 2
92090616499. 3
92090616500. 4

Part B: Economics

Section Id : 92090684
Section Number : 2

Section type : Online
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Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
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Maximum Instruction Time : 0
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Sub-Section Id : 920906136
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Question Number : 26 Question Id : 9209064176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : In the simple linear regression model with an intercept, the
regression slope when multiplied by the explanatory variable
X will give the predicted Y.

Statement—Il :  In the simple linear regression model, the regression slope
indicates by how many units Y increases, given a one-unit
increase in X.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement || are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090616501. 1
92090616502. 2
92090616503. 3
92090616504. 4

Question Number : 26 Question Id : 9209064176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ECRARC el o

FHE 1 FAEE F Oy gunY fEs Iy gigd O 9OeEy 29 & 99 SSETES g 9 X
wford faan san & 91 @igHE Y wTE g

w9 11:  HaRY e gfema ufeey § g 2 q9ian 2 6 X 0 vs-30E gig ¥R W Y ¥ fad
TIgEl 1 gfg B

I FUH F e 1, T f2u o fasmed § 9 598 300w I F 999 Fifa

(1)  &49 1 %K %A [15H1 59 £
(2) A 1 3R FeA 11 EE1 559 2
(3) A 194 8, dfed a4 11 594 81

(4) U 1 WA B, A ®u 1194 B



Options :

92090616501. 1
92090616502. 2
92090616503. 3
92090616504. 4

Question Number : 27 Question Id : 9209064177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the principal operating instrument of monetary
policy of RBI currently?

1. Repo rate

2. Bankrate

3. Cash Reserve Ratio (CRR)

4.  Statutory Liquidity Ratio (SLR)

Options :

92090616505. 1
92090616506. 2
92090616507. 3
92090616508. 4

Question Number : 27 Question Id : 9209064177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fau ° FefeiEa § 9 sF-8 A, . i bl i 1 0 a=er 359 27

() = (2) o=
(3) g ¥wWat IEE (CRR) (4) wifafys Tea 57 (SLR)
Options :

92090616505. 1
92090616506. 2
92090616507. 3
92090616508. 4

Question Number : 28 Question Id : 9209064178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A function is strictly concave in the interval |, if for all @ be/ and % (0, 1)
1. fl(1-L)a+nrb]=(1-1)f(a)+Af(b)
2.  f[(1-1)a+ib]<(1-A)f(a)+Af(b)
3. f[(1-n)a+ab)]=(1-nr)f(a)+Af(b)

4.  f[(1-r)a+rb)|<(1-n)f(a)+rf(b)

Options :

92090616509. 1
92090616510. 2
92090616511. 3
92090616512. 4

Question Number : 28 Question Id : 9209064178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU | § Fed HEda: Taigt 8, afe @t a, be ! ¥ Ae (0, 1) F fom -

1) fl(1-A)a+ibl=(1-1)f(@)+Af(b) (@ Fl(1-A)a+Aibl<(1-A)f(a)+AF(b)
@  f((1-A)a-ib)=(1-R)a+Lb 4) F((1-L)a+Ab)<ha+Ab

Options :

92090616509. 1
92090616510. 2
92090616511. 3
92090616512. 4

Question Number : 29 Question Id : 9209064179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which body decides the share of states in the tax revenues of the Centre in
India?

1.  NITI Aayog

2. Ministry of Finance
3. Finance Commission
4. Pay Commission

Options :

92090616513. 1
92090616514. 2
92090616515. 3
92090616516. 4

Question Number : 29 Question Id : 9209064179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
VA # %3 & F-T9a ° U1 $ eed &1 fafatad § 5 s-m e faifa & g0

(1)  ifa smm (2) fam A9
(3  fam smam (4) a9 A=
Options :

92090616513. 1
92090616514. 2
92090616515. 3
92090616516. 4

Question Number : 30 Question Id : 9209064180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Daniel Thorner referred to colonial investment in as “private investment
at public risk”.

1.  cotton textiles
2. iron and steel
3. railways
4.

agriculture



Options :

92090616517. 1
92090616518. 2
92090616519. 3
92090616520. 4

Question Number : 30 Question Id : 9209064180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T sfifafes suftEy 51 2fae g 3 st SifEm w = R 92im

(1) FHF= (2) iR 3N =\
@ @ (4) FM
Options :

92090616517. 1
92090616518. 2
92090616519. 3
92090616520. 4

Question Number : 31 Question Id : 9209064181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In correlation analysis, we measure the
1. degree of linear association between two variables
degree of causation between two variables

2
3. predictability of two variables
4

regression between two variables

Options :

92090616521. 1
92090616522. 2
92090616523. 3
92090616524. 4

Question Number : 31 Question Id : 9209064181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oz H=y fooomm O, S0 O A B -

(1) & =4 % =9 fas g=g Fiomn (fafl) =
(2) = 90 & 499 HE-HA §=4 S g (fEml) =
(3) 2 & dE EeEE

(4) = 99 % =9 gHEE F=@

Options :

92090616521. 1
92090616522. 2
92090616523. 3
92090616524. 4

Question Number : 32 Question Id : 9209064182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given the assumptions of the classical linear regression model, the ordinary
least square estimators possess some optimum propertiess—given in the
Gauss-Markov theorem. Which of the following is not a part of this theorem?

1. The slope estimator f’jg is a linear function of random variables
2. The expected value of Eg is equal to zero

3. No linear unbiased estimator has lower variance then that of ﬁg

4.  The estimator 35 is an unbiased estimator of 3,

Options :

92090616525. 1
92090616526. 2
92090616527. 3
92090616528. 4

Question Number : 32 Question Id : 9209064182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR W€ JHEE A1 i AAAAIH & d8d JT9A a9 99 gewas § §0 7ead 0 8 - 9 6
TE i WA H vEw &) Fefafed § @ 96 @ fgm w5 oam Tl 20

(1) & S by dEfas =i w1 s wor 21

@ B, w1 vl 9 I % SuE w2

@) Tl o Frogw (mfiem) tes s = waw, B, % vam d 50 79 dm g
(4) TS P, Py W T foE (sEfET) T R

Options :

92090616525. 1
92090616526. 2
92090616527. 3
92090616528. 4

Question Number : 33 Question Id : 9209064183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fiscal deficit, revenue deficit and interest payments of a country are
R 53,344, R34,355 and R 10,144 crores respectively. What is the primary
deficit?

1. R 43,200 crores

2. R24.,211 crores

3.  R44,499 crores

4. R10,144 crores
Options :

92090616529. 1
92090616530. 2
92090616531. 3
92090616532. 4

Question Number : 33 Question Id : 9209064183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el &0 1 T9FE 91, U9 9R S = PIaE wE9: 53,344 ., 34,355 F 3R 10,144 %
FE &1 Wit =12 4 87

(1) 43,200 FIE T (2) 24,211 F0E T
(3) 44,499 FE FET (4) 10,144 F03 T947
Options :

92090616529. 1
92090616530. 2
92090616531. 3
92090616532. 4

Question Number : 34 Question Id : 9209064184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the utility function u(x, y)= xy and given budget constraint M = PxX+PyY
what is the optimum bundle of consumption of x and y?

M\

1. —
P P }
..
NZP EF

M M

3. PR, R P g
P Px]
i [
2F‘ EF'

Options :

92090616533. 1
92090616534. 2
92090616535. 3
92090616536. 4

Question Number : 34 Question Id : 9209064184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



u(x, y)=xy IR BeF 3§ T g WA M= pux+pyy F 0 x HR oy F I39dEm
2O HUE F1 B 7

(M M) | M M
W 1p—*p—J @ |25 55

X ¥ X ¥,
o (MM & 1&1
S F‘J 2P, 2P, |

Options :

92090616533. 1
92090616534. 2
92090616535. 3
92090616536. 4

Question Number : 35 Question Id : 9209064185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The expansion path identifies

1. the least-cost combination of inputs required to produce various levels
of output

2. the firm’'s demand curve for inputs

3.  the various combinations of inputs that can be used to produce a given
level of output

4. the least-cost combination of outputs

Options :

92090616537 1
92090616538. 2
92090616539. 3
92090616540. 4

Question Number : 35 Question Id : 9209064185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g e s g -

(1) 3% = fafim =@ & 3007e & e srEvas Avmi &1 <Ha @ra qareH|
(2)  wAEl & AU w1 H gl

(3) e F fafim warea S aoam feu o geER T F fow e o w2
(4) IR W FHAE-ARE HH=AI

Options :

92090616537. 1
92090616538. 2
92090616539. 3
92090616540. 4

Question Number : 36 Question Id : 9209064186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The data on State Domestic Product are collected for one state of India for the
period 1990 to 2010. Such a dataset is an example of:

1. cross-sectional data
2. time series data

3. pooled data
4.

panel data

Options :

92090616541. 1
92090616542. 2
92090616543. 3
92090616544. 4

Question Number : 36 Question Id : 9209064186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1990 & 2010 7% &1 AuAEY & fo0 9ra F 1% T F T 9iE IWE F AiHe v fF o ) 9w
Y 9 TR & g F IeE A

(1) fods =ffa oiishe (oW %) (2) I ool S
(3)  wfed 3ihs (4) T iR

Options :



92090616541. 1
92090616542. 2
92090616543. 3
92090616544. 4

Question Number : 37 Question Id : 9209064187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement—I| : In the short-run, the rising part of the marginal cost curve is
due to diminishing marginal product.

Statement—Il :  In the short-run, the falling part of the marginal cost curve
implies existence of diminishing marginal product.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement Il is true

Options :

92090616545. 1
92090616546. 2
92090616547. 3
92090616548. 4

Question Number : 37 Question Id : 9209064187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FE 1. FeIEY d e A 96 1 9eq1 Y0 SEEE 6 3098 & A w6 2
w11 :  HeyEy | dWE A 9% 1 R 9 smeE dmE 30 & fGamma = et 2

I FYH & e H, T 20 e 1 3 qEE Iugw I % =994 Fifaw

(1) FF 3R IH 53 #
(2)  FE 13N IEH 39 &
(3) A 19 &, Al A 11 59 2
(1) FA 1 3EA 2, A S 1193 R

Options :

92090616545. 1
92090616546. 2
92090616547. 3
92090616548. 4

Question Number : 38 Question Id : 9209064188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Coase theorem states that as long as property rights are
defined and enforced, bargaining between parties can ensure
an efficient outcome in the presence of externalities.

Reason (R) : The assignment of property rights with bargaining among
parties can resolve externality problems, when the number of
parties involved is large.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :
92090616549. 1



92090616550. 2
92090616551. 3
92090616552. 4

Question Number : 38 Question Id : 9209064188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 21w feu U # : w YR (Assertion (A)) F w9 # fafigd & @1 280 39F FAW (Reasons
R) FFIH :

Aawya (A) . F9 fag@ Fam & 5 99 o5 dvf0 sAfawni ®1 ofonfea ok wafda e g,
U F 9 HigErs aEEae S Iufedfa § gaan g gifeea #= awd )

R (R) : TNl % WA HigaTel & "1y Hife] AUER 1 A= TEEd Al 1 qEeE w5
Tl B, T Hetd GEEH 1w A7 6|

I HUH % Ak d, Fr= feu m fomedi § 4 gaifus 399 39 1 =991 Hifan

(1)  (A) 3 (R) gH1 5&l & 3R (R), (A) &1 9 =we 2

(2)  (A) 3 (R) g = &, A (R), (A) i =&t = 76 &
B (A) T R, T (R) 9 T R

(@) (A) = T 2, S (R) wE 2

Options :

92090616549. 1
92090616550. 2
92090616551. 3
92090616552. 4

Question Number : 39 Question Id : 9209064189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider an economy with perfect capital mobility, fixed price level and fixed
exchange rate. What will be the effect of a rise in foreign interest rate on output
of this economy?

1. Rise

2. Decline

3. Nochange
4. Can'tsay



Options :

92090616553. 1
92090616554. 2
92090616555. 3
92090616556. 4

Question Number : 39 Question Id : 9209064189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 0o Haer, R fma R Bn fGtem @ awl v e w e fit) e e @ #

Ui %Y 9 AUSHEE] % I91E § afg W F9 99E BT

(1 ofg (2) frmEe
(3) g OiEaq JE (4) € TE HEA
Options :

92090616553. 1
92090616554. 2
92090616555. 3
92090616556. 4

Question Number : 40 Question Id : 9209064190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—Il with List=Il :

List—I List—Il
(A) | The shape of (I) | Horizontal, parallel to X-axis,
indifference curve for two utility rises as move to a lower
bads indifference curve
(B) | The shape of () | Concave to the origin

indifference curve for one
good and one bad

(C) | The shape of an|(lll)
indifference curve for one
good Y and one neutral X

(D) | The shape of an|(IV)
indifference curve for one
bad Y and one neutral X

Upward sloping

Horizontal, parallel to X-axis,
utility higher for a higher
indifference curve

Choose the correct answer from the options given below :
(A1) (B)=(1): (CH(IV); (D)-(1I)
2. (A)(Il); (B)=(lll); (C-(IV); (D)1)
3. (A)=(ln); (B)=(11); (C)=(1); (D)=(IV)

4. (AHIV); B)=(1); (C)-(I); (D))

Options :

92090616557. 1
92090616558. 2
92090616559. 3
92090616560. 4

—

Question Number : 40 Question Id : 9209064190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=1-1 %1 F=H1-11 | gHfea il .

11 -1
(A) o i % fow oweRm @ () e, WW F §uee, U e
=1 AR Tl O W A W ITGIE gl 2
(B) u# U ¥ UF 3wy & fem (1) HE S Jee
TTEIAT T T ATH(
(C) % 9a Y 37 wF |EA X F (1) FR F 7R 2= 9@
T Fesgan =% 61 AT
(D) U FUE Y 3 UF IgEE X & (V) &@fad, 39 & G9FmL, U6 I desdd
Teru Fzeaan = $1 A % W AH T ITIE g4 2

4= feu mu fasedi 0 9 W I & 999 it

(1) (A)-(I1), (B)-(I), (C)-(IV), (D)-(11I)
(2)  (A)(I), (B)-(I1D), (C)-(IV), (D)-(T)
(3) (A)-(IID), (B)-(I1), (C)-(T), (D-(IV)
(4) (A)-(IV), (B)-(T). (C)-(I1I), (D)-(II)

Options :

92090616557. 1
92090616558. 2
92090616559. 3
92090616560. 4

Question Number : 41 Question Id : 9209064191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-lI :

List-I List—II
(A) | Evolution of Provincial Finance in British | (l) M. K. Gandhi
India
(B) | Essays on Indian Economics (1) | B. R. Ambedkar
(C) | Hind Swaraj (i) | Dadabhai Naoroji
(D) | Poverty and Un-British Rule in India (IV) | Mahadev Govind

Ranade

Choose the correct answer from the options given below :
(A-(IV); (B)=(I); (C)-(11); (D)1)
2. (Ay(I); (By=(IV): (C)=(1): (D))
3. (AR(IV) (B)(I); (Cy=(In); (D)-(1)
4. (A B)-(); (C)(1Il); (D)-(V)

—

Options :

92090616561. 1
92090616562. 2
92090616563. 3
92090616564. 4

Question Number : 41 Question Id : 9209064191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=1-1 %1 HH1-11 | gafem Fifa

-1 =11
(A) FEgEA A6 NfafaTd $EAE s () .. W
fafem sfem
(B) wHa ¥ e s (I) .30, =2
(C) T == (IIT) grgrars s

(D) wEdive A e sm wmsfem  (IV) weERa mibg T2
4= feu mu ol | F WA I W 999 Fifa

(1) (A)-(IV), (B)-(II), (C)-(11L), (D)-(I)
(2) (A)-(1D), (B)-(IV), (C)-(I), (D)-(I11L)
(3) (A)-(IV), (B)-(L1L), (C)-(IL), (D)~(T)
(4) (A)-(1T), (B)~(I), (C)~(I1I), (D)-(IV)

Options :

92090616561. 1
92090616562. 2
92090616563. 3
92090616564. 4

Question Number : 42 Question Id : 9209064192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=I| with List=lI :

List- List-II
(A) | Mode (I) | Measure of sampling variability
(B) | Quartile deviation (I1) | Measure of strength of linear relation

(C) | Correlation coefficient | (lll) | Measure of central tendency

(D) | Standard error (IV) | Measure of dispersion

Choose the correct answer from the options given below :

1. (A(I); (B)(I); (C)-(); (D)(IV)

2. (A(IV); (B)=(IN); (C)(1); (D)~(1I)
3. (A(IIN); (B)=(IV); (C)=(II); (D)(1)
4. (A)=(1); (B)=(I): (C)=(lll); (D)~(IV)
Options :

92090616565. 1
92090616566. 2
92090616567. 3
92090616568. 4

Question Number : 42 Question Id : 9209064192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H1-1 %1 F=1-11 § gAfoa Sifau
-1 -1
(A) FEeT* ()  wfagsl afEdTsfier %1 o=
(B) <=gam fa=em (I1) ¥Ras |99 Fi FfE F1 =
(C) wEH=" T (I1T) F=@E w&g & 9
(D) wF= = (IV) WA %1 9=

4 feu mu Tt § @ @ I o =99 Hifau

(1) (A)-(I1I), (B)-(1I), (C)~(I), (D)-(IV)
(2) (A)-(IV), (B)-(I1I), (C)-(I), (D)-(II)
() (A)-(1ID), (B)-(IV), (C)-(1I), (D)-(D)
(1) (A)-(I), (B)-(IT), (C)~(III), (D)-(IV)



Options :

92090616565. 1
92090616566. 2
92090616567. 3
92090616568. 4

Question Number : 43 Question Id : 9209064193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A general linear programming problem which is a maximization problem in two
decision variables ( xjand x5 ) and two resource constraints (byand b, ) can be

set up in the following way :

A. Specify the inequality constraints also known as the resource constraints
as &8yiXq+a8pX2=<by and ap¢X;+8yXp> <by; and non-negativity
constraints: x4 =0, X 20.

B. Solve the problem and plot the constraints on a graph in ( X4, X ) space to
define the feasible solution.

C. Specify the criterion function which involves maximizing a linear function:
MaX 7 = g%y + Cp X5

D. The optimal solutions given by (x3, X3) can be used to find the maximum

value of the objective function z.

Choose the correct answer from the options given below :

1. D,A B,C

2. C,ABD

3. C,B,DA

4. D,CBA
Options :

92090616569. 1
92090616570. 2
92090616571. 3
92090616572. 4

Question Number : 43 Question Id : 9209064193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



N @A i e | g v =\l (xR xp) R g dEea S (b HRby)
¥ stawad wEE 7, %1 fefatEa i 8 wnfE fm s w2

(A) wEfrs WemA 5 sEee demEn @ w@ T Bl agqxq+appxp <b 3R
8p1Xq + 800Xy < by HETEA WA 3R T FOHFA X, 20, xp =0 =i faffé= w0

(B) HYEI H] BA FAA1 3R A€M FA Bl TOATT & & T (xq, xp ) AW | UTE W aveansi
=1 Fremm)

(C)  ¥cs wor & fafierm = fomid i wom =1 sk ffam 20 "9z = o+ coxp

D) (X, x3) B Y5 §349 &A1 %1 IUAR IS FeH H fusan o9 2 79 w9 d o

HEAT?

Hig feu Mo fawedi § ° T I W =99 Hifa

(1) (D), (A), (B), (C)
2 (), (), (B), (D)
3 (C), (B, (D), A)
(4) (D), (C), (B), (A)

Options :

92090616569. 1
92090616570. 2
92090616571. 3
92090616572. 4

Question Number : 44 Question Id : 9209064194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order starting with the earliest :
A. Nationalization of banks

B. Establishment of RBI

C. Launch of MNREGA

D. Second Five Year Plan

E. Establishment of SEBI

Choose the correct answer from the options given below :
1. DB,AB.E.C
2. BDAEQC
3. DABCE
4. D,B AEC

Options :

92090616573. 1
92090616574. 2
92090616575. 3
92090616576. 4

Question Number : 44 Question Id : 9209064194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEH T FH AT § IE Fh HICHRAER HicnEa $i saaredd i)
(A) =% F T
(B)  RBII &1
(C)  wAaT & A
(D) gE{ T=adiE g

(E) et < T

Fr= feu Tu fomredi | | @6 IR = 994 Hifaw
(1) (IN. (A), (B). (E). (C)
(2) (B), (D), (A), (E), (C)
(3) (D), (A). (B), (C). (E)

(4) (D), (B), (&), (E), (C)



Options :

92090616573. 1
92090616574. 2
92090616575. 3
92090616576. 4

Question Number : 45 Question Id : 9209064195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the books in chronological order of publication :

A. Theories of Surplus Value

B. The General Theory of Employment, Interest and Money

C. On the Principles of Palitical Economy and Taxation

D. An Inquiry into the Nature and Causes of the Wealth of Nations

Choose the correct answer from the options given below :

1. A/B,C,D

2 D,CARB

3. BACD

4. C,B,D A
Options :

92090616577. 1
92090616578. 2
92090616579. 3
92090616580. 4

Question Number : 45 Question Id : 9209064195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T i Fh WM § FICGHHITER Saedd it

(A) RS AH T doq

(B) SRS AR A THelaHe, T Ug W

(C)  ¥F 7 fifawes s gifafesa shmHl U e
(D) & sl 7 g A9 U A AE 90y W% A9

4= feu o feeeai § 9 9 I % 999 il .
(1) (A, (B), (C), (D)
(2) (D), (C), (A), (B)
(3) (B), (A), (C), (D)
(4) (C), (B), (D), (A)

Options :

92090616577. 1
92090616578. 2
92090616579. 3
92090616580. 4

Question Number : 46 Question Id : 9209064196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The inverse of y =f(x)=e” exists for all x>0.
Reason (R) : f(x) is differentiable and monotonic for all x=0.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)is true but (R) is false

4. (A)is false but (R) is true

Options :
92090616581. 1



92090616582. 2
92090616583. 3
92090616584. 4

Question Number : 46 Question Id : 9209064196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21 %o for U : v AT (Assertion (A)) % ¥4 H fafEd & a1 g0 36F FMW (Reasons
34]] FEIH :

A (A): ®f x>0 F fau y =f(x)=e* =+ vfaeim fommm 21
FAW (R) : Tft x & fou f(x) AaweHE 3 o faufig 2

I FYA & A 4, A4 fou T o § § gE9 IEw I w99 S

(1) (A) 3% (R) gH1 981 & 31 (R), (A) i =& =ame &

(2) (A 3 (R) g4 |el &, @l (R), (A) = |&l =mem F8 &
@ (A= R, o R) 56 76 7

() (&) = A 2, oA (R) wE #

Options :

92090616581. 1
92090616582. 2
92090616583. 3
92090616584. 4

Question Number : 47 Question Id : 9209064197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other

is labelled as Reason (R) :

Assertion (A) : According to the first theorem of welfare economics, a
competitive equilibrium is Pareto efficient.

Reason (R) : According to the Walras law, the value of aggregate excess

demand is zero for all prices.

In the light of the above statements, choose the correct answer from the options

given below :
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)
3. (A)istrue but (R) is false
4. (A)is false but (R) is true
Options :

92090616585. 1
92090616586. 2
92090616587. 3
92090616588. 4

Question
Question

Number : 47 Question Id : 9209064197 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

= 31 #ya fou 0 # : wF AWEER (Assertion (A) F ¥ ¥ fafea & @1 50 39F FEO (Reasons

M) FFETT :

i

(A): Heaw HEAEE & vUW FHEA % HHER-E Hiaerd] sed TeE-2d

FR (R) : T F FHan % SEn 5 Al & fau @a sifas 7w S 9E I3 g 2

IHE
(1)
(2)
(3)
(4)

Options :

o4 % A 4, 44 fou T faweni § | 59 I I H =994 Sifa

(A) 31 (R) 2H1 ®El # 31 (R), (A) 1 7l =are &

(A) #I (R) FH1 =E &, =i (R), (A) 1 HEl =ame 746 2
(A) =& 2, wifea (R) =&l 41 &

(A) =l 74 2, A (R) wél 2

92090616585. 1



92090616586. 2
92090616587. 3
92090616588. 4

Question Number : 48 Question Id : 9209064198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : A club good is non-rival and excludable in consumption.
Reason(R) : A public good is non-rival and non-excludable in
consumption.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090616589. 1
92090616590. 2
92090616591. 3
92090616592. 4

Question Number : 48 Question Id : 9209064198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 31 wya fgr o @ s AiWEYA (Assertion (A) % ®1 ¥ fafEa B A1 250 38F WU (Reasons
M) FEAH :

AFE (A) . UF qHA Foe g5 I H T-wfaerdi s swEsEE 2
FRO(R): U HEAAS a6 @9 ° 1 afaerdi s - s 2

IRIT FYA & e 4, A= G0 T faweni 4 9 596 IE I #9694 Hifa

(1) (A 3R (R) §F1 &1 & 3R (R), (A) i 91 =we 2

(2)  (A) 3 (R) 21 |E E, A (R), (A) 61 58 = 78 #
(3) (A w2, A (R) 98 76 8

(4)  (A) = T 2, S (R) wE 2

Options :

92090616589. 1
92090616590. 2
92090616591. 3
92090616592. 4

Question Number : 49 Question Id : 9209064199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : While calculating GDP using the expenditure approach, the
value of imports is subtracted.

Reason (R) : Imports are included when value of consumption and other
components of expenditure are calculated.

In the light of the above statements, choose the correct answer from the options
given below :

1.  Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)istrue but (R) is false

4. (A)is false but (R) is true
Options :
92090616593. 1
92090616594. 2
92090616595. 3



92090616596. 4

Question Number : 49 Question Id : 9209064199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 wyA fgu o # : uF AiWEEA (Assertion (A)) % ®9 ¥ fafEa 2 A1 250 I38F FRU (Reasons
R) F&EIH :

ARFY (A): =9 UM F I H gL A A & Al B 0E Fi A6 R @ A fhmd we
i

=AW (R) - o9 AW 3R = S+ A 3EEEl & g & E Sl § 91 A S
EZIEEGIES

I HYH & e °, Fi= &0 mu famwmei § 9 58 3G I #9494 wifau

(1) (A) 3R (R) ZE1 51 & 3 (R), (A) F1 91 =2me 2

(2)  (A) 3R (R) g1 78t 7, FfF (R), (A) F |6 =5 74 2
(3) (A= 2, S (R) 9 T R

(4) (A = A R, S (R) HE #

Options :

92090616593. 1
92090616594. 2
92090616595. 3
92090616596. 4

Question Number : 50 Question Id : 9209064200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) :

Reason (R)

For a differential equation x+ax=b for a=0,
F(x)=x=b-ax and the equilibrium is at ng. This

equilibrium is stable for 2= 0.

The equilibrium is obtained for x=b-ax=0 or x=

— |

Stability is obtained when F'(x)
< 0. Here F'(x)=-a and so the equilibrium is stable if a> 0.

s

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation

of (A)

3.  (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090616597. 1
92090616598. 2
92090616599. 3
92090616600. 4

Question Number : 50 Question Id : 9209064200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dr= g1 wyA f5r o # : uF AWEYA (Assertion (A)) % ¥ ¥ fafEa 8 91 250 38F AU (Reasons
R)FEIH :

AUEH (A): TF HaFoHg T x+ax=b ¥ az0 & oW x= F(x)=b-ax 3N T
I:E‘H%I?ﬁﬂﬁ?ﬂ a>0 % fou w=mi 2

FA (R) : e e x=b-ax=0 ng T Y g 81 5| F'(x)=0 2, d wfa=
U™ gl #1 78 F(x)=-a ¥@: 3fg a > 0 71 vgen = &1

I FYH & A H, = 20 7 R § 8 qe98 390G I F 99q St

(1) (A) 3 (R) gH1 71 & 3 (R), (A) i &1 =awe &

(@) (A) IR (R) I T E, AR (R), (A) F w7 == TE R
(B)  (A) FE 2, i (R) 9 7 2

(4)  (A) T T 2, = (R) wE 2

Options :

92090616597. 1
92090616598. 2
92090616599. 3
92090616600. 4

Question Number : 51 Question Id : 9209064201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements -

Statement—!| : When the demand curve shifts : if the supply curve is
steeper, then the price change is larger and the change in
the amount bought and sold is smaller, as compared to the
flatter supply curve.

Statement—Il :  When the supply curve shifts : if the demand curve is
steeper, then the price change is larger and the change in
the amount bought and sold is smaller, as compared to the
flatter demand curve.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement |l is true

Options :

92090616601. 1
92090616602. 2
92090616603. 3
92090616604. 4

Question Number : 51 Question Id : 9209064201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 & w fen mu #

FH 1  FE AW 9% WA @ 8 afe I 9 sAfawaveetl # a1 0 guiEer] fmd afEd
sk B & 3R sqfd == 6 feafa £ 9o @ 9 f 9 3 T 1 amn A afed
%4 F 8

FoF 11: 5@ S 9% TFaRd g 8 afg 7 9% Afawaven] & @ ® IUEER] 7 9%

feafa =i qe | FHma giEds wfas 2 2 3 a5 H % iR faee &1 s a@mE A e
FH B 2

I FHIH & A |, A= feu 7 fawmed § 9 590 309w I F 994 Fifa

(1) 9 130 11 3H 39 #
(2)  HYE 1SR 1S e #
(3) FA1EA 8, off oA 11 58 2
(4) FHEIFEAE, A FHIITTE

Options :

92090616601. 1
92090616602. 2
92090616603. 3
92090616604. 4

Question Number : 52 Question Id : 9209064202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : Let (x4, X%,) be the chosen bundle when prices are
(py, p2) and let (y4, ¥») is some other bundle such that

PiX1+ P2X2 = P1¥1+ P2 ¥2. Then if the consumer is choosing
the most preferred bundle she can afford, we must have
(x"|| xz):} (_F']!- yﬁ}

Statement—Il : If one bundle is chosen when another could have been
chosen, we can say that the first bundle is revealed preferred
to the second.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4.

Statement | is false but Statement 1l is true

Options :

92090616605. 1
92090616606. 2
92090616607. 3
92090616608. 4

Question Number : 52 Question Id : 9209064202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4= 21 %y feu Mo # -

FRI: AN (%, xp) FAFE FYE & 9 A (pg, pp) & A (yy, o) T FA TE B,
T8 89 pyxy + PoXo = Py Yy + Po Yo & 9 Afg I0HE U g FEE Haifus 3 598
T FETE, A (X, X2) > (¥4, Vo) B AMfE

F I1: T8 UF 99 & 994 691 a1 8 F&6 gl 91 994 (60 1 FFa1 91, #9 8 99 & 6
UH HHE T gH ®i qol H Wil I9E i )

I FIH & A |, A= feu 7 fawed § 9 590 309 I F 994 Fifa

(1) w13 112 o= &
(2) A 1SR 1S e |
(3)  FF 193 &, of 21 11 39 2
(4) | 5HA 7, Wi Fe 1189 2

Options :

92090616605. 1
92090616606. 2
92090616607. 3
92090616608. 4

Question Number : 53 Question Id : 9209064203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : In 2020 a farmer purchased 5 new tractors at 2 2,00,000
each. He sold his 5 old tractors to other farmers for % 50,000
each in same year. The net increase in GDP 2020 due to
these transactions was % 12,50,000.

Statement—Il : In 2020 a farmer purchased 5 new tractors at ¥ 2,00,000
each. He sold his 5 old tractors to other farmers for 50,000
each in same year. The net increase in GDP of year 2020
due to these transactions was ¥ 10,00,000.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is true but Statement 1l is false

4.  Statement | is false but Statement Il is true
Options :

92090616609. 1
92090616610. 2
92090616611. 3
92090616612 4

Question Number : 53 Question Id : 9209064203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 2w fgn -

FAI1: 2020 ® v fFEE F 2,00,000 ¥ 9fF 39 f @ H 5 A0 3E Q) I 99 I 5 TH
22 50,000 ¥R 1 g H gEl fHEEl #1 == fed) @ w=eA |3 2020 F SiEd | 4 3fg
12,50,000 =93 i

HYE I1: 2020 | v fmmE 3 2,00,000 ¥93 9fd d9 $1 g0 H S 90 o @iig) 36 = 384 S WA
a2 50,000 ¥ 1 T H AL fHEEl F1 == fed| ¥ S 7 2020 H SE 4 9 08
10,00,000 ®7% i

I FIH & e °, A= 8 e § 3 qE9E 30g I w5 =994 Fifa

(1) A 1 3R 136 59 &
(2) A 13 11 EH T #
(3  FuA 1FE 7, o ®ed 1 3w 7
(4)  F [ HEAE &, A weF 199 7

Options :

92090616609. 1
92090616610. 2
92090616611. 3
92090616612. 4

Question Number : 54 Question Id : 9209064204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I| : The price consumption curve is negatively sloped for a Giffen
good.
Statement—Il :  All Giffen goods are inferior goods but all inferior goods are

not Giffen goods.

In the light of the above statements, choose the correct answer from the options
given below :

o Both Statement | and Statement |l are true
Both Statement | and Statement |l are false

Statement | is true but Statement |l is false

AWM

Statement | is false but Statement Il is true

Options :



92090616613. 1
92090616614. 2
92090616615. 3
92090616616. 4

Question Number : 54 Question Id : 9209064204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 2 A fem o # .

w1 T aegs & o a3 9% TE R eaH 99 2
H 11: =\ it sequ afea aequ € T wfi =fem s i = 74 21

I FYH F e °, T 2o m ot 8 9 598 300w I #9599 fifa

(1) 99 1 R I1SH 94 &
(2)  FUA 1R [ 2E T
(3) T4 1 9 8, e &ua 11 319 &

(4) U 1 HEA B, vl e (19 7

Options :

92090616613. 1
92090616614. 2
92090616615. 3
92090616616. 4

Question Number : 55 Question Id : 9209064205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements -

Statement—| : When the economy is in liquidity trap, the LM curve is
horizontal.

Statement—Il :  Fiscal policy is ineffective when the economy is in liquidity
trap.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

92090616617 1
92090616618. 2
92090616619. 3
92090616620. 4

Question Number : 55 Question Id : 9209064205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4= g1 % fow mu E

FA [ FE AdEE WEA-F 4 26 E A LM 95 8t g 2
F 1 F9 wd=gaey wEa-99 1 2561 2 791 oasnE Jif et 26 2

I FHIH & A °, = &u  FEweT § 9 596 I7gE I H 994 S

(1) = I3 IgH |d §
(2)  FA 1SR IS e #
(3) FF 156 8, i 9 11 7o 2
()  FHA [79a &, T FgA 1198 2

Options :

92090616617. 1
92090616618. 2
92090616619. 3
92090616620. 4



Question Number : 56 Question Id : 9209064206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—I| with List-Il :

List-I List—II
(A) | Cournot Nash equilibrium ()] Price leadership model
(B) | Stackelberg model () | Non-collusive

(C) | Kinked-demand curve model | (lll) | First-mover advantage fixing
guantities

(D) | Bertrand model (IV) | Price-rigidity model

Choose the correct answer from the options given below :

1. (A1) (B)IV); (C)=(Ill); (D)~(1I)

2. (A-(IV); B)-(I); (C)-(lll); (D)~(1)
3. (A1) (B)(II); (C)(Il); (D)IV)
4. (AW(I); (B)=(IN); (CIIV); (D)~(1)
Options :

92090616621. 1
92090616622. 2
92090616623. 3
92090616624. 4

Question Number : 56 Question Id : 9209064206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % |19 F= -1 1 feer Hifaw -

HH-I 11
(A)  FAR A9 HIeH (I) WA g wisd
(B) THereni Uisd (I) T-Heamhr
(C) TF= 9 - | 7% +1 °iza (IIT) wo9 Y9l o e aEm
(D) @ wigdA (IV) < FIHA 7z

3 feu mu fasredi ® A WA I W 99 Hifaw

(1) (A)-(1), (B)-(IV), (C)-(1II), (D)-(1I)
2) (A)-(IV), (B)-(1I), (C)-(I1I), (D)-(T)
(:3) (A)-(1), (B)-(I1L), (C)-(11), (D)-(IV)
(4) (A)-(LL), (B)-(111), (C)-(IV), (D)-(D)

Options :

92090616621. 1
92090616622. 2
92090616623. 3
92090616624. 4

Question Number : 57 Question Id : 9209064207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-Il :

List-I List-Il

(A) | Phillips curve () | Consumption per capita
maximum at steady state

(B) | Vertical AS curve (I1) | Debt financing by bond issues
merely postpones taxation

(C) | Golden rule level of savings (1) | Trade-off between inflation
and unemployment

(D) | Ricardian equivalence (IV) | No long-run trade-off between
inflation and unemployment

Choose the correct answer from the options given below :
1. (A1) (B)-(): (C-(V); (D))
2. (A (B)~(IV); (C)-(1); (D)~(I1)
3. (A)(IV): (B)=(IN); (C)~(1); (D)=(I)

4. (A-(I); B)-(IV): (C)=(I1): (D)~(1)

Options :

92090616625. 1
92090616626. 2
92090616627. 3
92090616628. 4

Question Number : 57 Question Id : 9209064207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % Ty g=i-11 1 faem $ifo -

-1 =11
(A) T =% (I) TR s=Een w wia =fE 3am
(B) weater i 7Hy 3TIH T (D) =awa frm gm fasm Fmam =i et w2
(C) == = @=hm Fam == (11D ﬁ%ﬁm%ﬂamw(ﬁﬁw
)
(D) Tremféaa geam (IV) W& 3R S0l & &9 3R daiary SR sEEn
(ferremt A=)

Fr= feu o fameei ® © TE IR W 994 Sifaw

(1) (A)-(IT), (B)~(I), (C)-(IV), (D)-(11I)
(2) (A)-(LII), (B)-(IV), (C)-(I), (D)-(1I)
(3) (A)-(IV), (B)-(III), (C)-(I), (D)-(1II)
(4) (A)-(IIT), (B)-(IV), (C)-(1I), (D)-(T)

Options :

92090616625. 1
92090616626. 2
92090616627. 3
92090616628. 4

Question Number : 58 Question Id : 9209064208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=Il :

List-I List-II
(A) | Corporate insolvency resolution | (l) Health cover for poor
process and vulnerable families
(B) | Nationally Determined | (Il) | Addressing horizontal
Contribution and vertical imbalances
(C) | Finance Commission (lll) | National Company Law
Tribunal
(D) | Ayushman Bharat PMJAY (IV) | Reduction of carbon
emissions

Choose the correct answer from the options given below :
(A=(1); (BY=(I): (CH(IV): (D))
2. (AR(IN); (BHIV). (C)(I): (D)}-(1)
3. (A1) B} (C)(I); (D)~(IV)
4. (A(I); (B (C)=(11); (D}(IV)

Options :

92090616629. 1
92090616630. 2
92090616631. 3
92090616632. 4

—

Question Number : 58 Question Id : 9209064208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HH1-1 % |1y H=-11 1 faem Hif

11 11
(&) Ffm smvE-wama (seEdl) (D) R 9 oodE ofan = = s
ELIPIERNE)
(B) T # W faifa siem (I) &fos 3 FAie FEqel S gardga &
(C) Tam smam (IIT) T ot i AT

(D) A ¥ i U H U A (IV) e Ieds | )
4 feu mu et § @ 9E I % =999 Hifau

(1) (A)-(I), (B)-(11), (C)-(IV), (D)-(I1L)
(2) (A)-(IID), (B)-(IV). (C)-(II), (D)-(D)
(3) (A)-(I), (B)-(II), (C)-(I1D), (D)-(IV)
(4) (A)-(III), (B)-(I), (C)-(1I), (D)-(IV)

Options :

92090616629. 1
92090616630. 2
92090616631. 3
92090616632. 4

Question Number : 59 Question Id : 9209064209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following for natural monopoly :

A. When the firm’'s average cost of producing a good continuously declines,
a natural monopoly arises.

B. Under natural monopoly, economic profits are positive or greater than
Zero in equilibrium.

C. A market is a natural monopoly when a good is produced most
economically by a single firm.

D. Natural monopoly follows marginal cost pricing at all times.
Choose the correct answer from the options given below :
1. Aand D only
B and D only
A and C only

e e N

B and C only



Options :

92090616633. 1
92090616634. 2
92090616635. 3
92090616636. 4

Question Number : 59 Question Id : 9209064209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s tEiigER 2q Fefafe = famr i
(A) & wH g B a5 & 3ee #i sitea ara e Rt 2 9 v oo o @ 3e
£ 21

(B)  wiHfa® THIYER F AWA, FaeF HGE § A1UE A g9 91 = | Afus 2d #)

(C) =% ST U Wishic= UHIUHE B & 99 F6H1 %1 "aifus fFemd #9 4 I0ed Tha 66 g
fea =man 2

(D)  Hias THTgSR Hea HHia @R Hiad F S0 H) 2

i feu o fasedi | & wE I w1 994 Hifaw
(1)  ae (A) (D)
(2)  %aa (B) 3R (D)
(3) A (A) #AR (C)
(4)  ¥aa (B) #R (C)

Options :

92090616633. 1
92090616634. 2
92090616635. 3
92090616636. 4

Question Number : 60 Question Id : 9209064210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following is related to land revenue settlements in colonial India :

A. Bengal and Bihar had Permanent land revenue settlement, UP and Punjab
had Ryotwari system and Madras Presidency had Mahalwari system.

B. All regions had the same land revenue settlement.

C. Bengal and Bihar had Permanent setttement and UP had Mahalwari
system.

D. Bengal and Bihar had Ryotwari system and Madras Presidency had
Mahalwari system.

E. UP and Punjab had Mahalwari system and Deccan and Madras Presidency
had Ryotwari system.

Choose the correct answer from the options given below :

1. A, Eonly

2. C,Donly

3. Bonly

4. C,Eonly
Options :

92090616637 1
92090616638. 2
92090616639. 3
92090616640. 4

Question Number : 60 Question Id : 9209064210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafes =1 @99 sivfEfes v 4 4-TeE 95Ea 3 2
(A) = 3 faEn § vl q-teE 99 W, gt 3 dee o taearEl v o 3 aEm wEwE o
LEEEIER R

(B) =t &= § F9F -UeE weEe ol

(C) =Ta R faer § vy s @ o gf § wEreardl v o)

(D) =me 3 faEn § Eaard wan ot af W wEWE § HEeErd! ven o)

(E) 7t 3 9o § wEreErs) wan of 3 g4 S "EM "EwiE 4 Eaargl 9 o)

= feu mu faeedi § O @E I #1999 Hifau
(1) =9 (A), (E)

(2) %= (C), (D)

(3) %= (B)

(4)  FaEda (C), (E)

Options :

92090616637. 1
92090616638. 2
92090616639. 3
92090616640. 4

Question Number : 61 Question Id : 9209064211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A kinked demand curve under oligopoly necessarily implies
A. adiscontinuity in the marginal revenue schedule

B. a gap in the marginal cost schedule

C. formal collusion in price determination

D. the price need not be above marginal revenue

Choose the most appropriate answer from the options given below :
1. AandB only
A only

C and D only

oW N

A and D only



Options :

92090616641. 1
92090616642. 2
92090616643. 3
92090616644. 4

Question Number : 61 Question Id : 9209064211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FATIRR % SiTd U ek aTet W 9% W1 S w9 4 ffead g 2
(A) T TEE SEEE A
(B)  HmiA U A{EA ° HAE
() A i § s T

(D)  =hiaa = H6E TEE d S0 A AEEEa A8 2

=i e U femedl § | |E I #9499 Hifaw
(1) == (A) 31 (B)

(2) a9 (A)

(3)  FEa (C) #HR (D)

(4)  Fa9 (A) I (D)

Options :

92090616641. 1
92090616642. 2
92090616643. 3
92090616644. 4

Question Number : 62 Question Id : 9209064212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a two-sector model :

Smaller the marginal propensity to save (MPS),
Steeper saving function

Smaller value of the multiplier
Consumption function has flat slope
Larger value of the multiplier

moowp

Flatter saving function

Choose the most appropriate answer from the options given below :
1. Aand B only

2. CandEonly

3. DandEonly
4.

B and D only

Options :

92090616645. 1
92090616646. 2
92090616647. 3
92090616648. 4

Question Number : 62 Question Id : 9209064212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



v fg-aF= viga W faam %1

MPS a1 %5 g -

(A) =99 %ed HiYE 2= A '
(B) VR 1 TEd HH B

(C)  JU9F %o M 2a Jrel 2
(D) 7T = g A 7

(E)  ==d %o HH 2le 9ol 80

A= feu o faeredl § @ |El I w1 991 SHifaw
(1) %9 (A) 3 (B)
(2) A& (C) 3 (E)
(3)  =ad (D) 3 (E)
(4) %= (B) #(D)

Options :

92090616645. 1
92090616646. 2
92090616647. 3
92090616648. 4

Question Number : 63 Question Id : 9209064213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-—II :

List— List—I

(A) | Dandi March (I) | Peasant indebtedness

(B) | Swadeshi Movement (If) | Peasant freedom over choice of crop

(C) | Champaran Movement | (lll) | State monopoly over salt production

(D) | Deccan Riots (IV) | Deindustrialization

Choose the correct answer from the options given below :
(A(IV); (B)=(I); (C=(1); (D))
2. (Al (BH(IV): (CH(n): (D)
3. (AHIV); B)-(); (C)=(I1); (D)-(1)
4. (A=) (B)=(IV); (Cy(1): (D))

—

Options :

92090616649. 1
92090616650. 2
92090616651. 3
92090616652. 4

Question Number : 63 Question Id : 9209064213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 % 9y g=61-11 =1 e Fifw .

g1 11
(A) =t A () o= TR
(B) el FEeEH (I1) %5 994 T fFaEl 61 @daa
(C) =R SAiEeH (IIT) 0% 30972 T 7= & THITHT
D) T (IV) TR i

4 fer o Tl © © wEl I W 994 Hifaw
(1) (A)-(TV)), (B)-(LII), (C)-(I), (D)-(11)
(2)  (A)(IID, (B)-(IV), (C)-(II), (D)-(T)
(3 (A)-(TV), (B)-(11I), (C)-(IL), (I0-(I)
(4) (A)-(TIT), (B)-(IV), (C)-(T), (IN-(1T)

Options :



92090616649. 1
92090616650. 2
92090616651. 3
92090616652. 4

Question Number : 64 Question Id : 9209064214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sequence in chronological order of the events in world economy starting
from the earliest is :

A. East Asian Financial Crisis
Outbreak of COVID-19
Global Financial Crisis
War in Ukraine

moow

New Economic Policy (India)

Choose the correct answer from the options given below :
1. EAGCHB.D

2 C.BADE

3. B,ACDE

4. C,AB.DE

Options :

92090616653. 1
92090616654. 2
92090616655. 3
92090616656. 4

Question Number : 64 Question Id : 9209064214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AfFash HUSTEEY1 § GeAIHA] I T HEH TEel IE EH 5 FHOHHIEN A § sraied $ifau)
@A) oo o e T

(B)  IfAE-19 F1 FEHIE

() dfvas fawig 5%

(D) THHHIF
(E) =% faeim Hifa (vawa)

e feu mu feepedi § € @ 3@ % =994 Sifaw .

(1) (E), (4), (C), (B), (D)
(2) (C). (B), (A). (D). (E)
(3) (B), (4), (C), (D), (E)
(4) (C), (A), (B). (D), (E)

Options :

92090616653. 1
92090616654. 2
92090616655. 3
92090616656. 4

Question Number : 65 Question Id : 9209064215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of wage-price flexibility approach of Pigou is :

A. Wages and prices decline

Real value of assets increases

Cost decline and price decline result in price of assets falling
Unemployment increases

moo o

Less savings would be undertaken and consumption increases, output
rises

Choose the correct answer from the options given below :
1. D,A,C,E,B
2. ADCEB
3 D/ACGBE
4. D,AB,CE

Options :

92090616657. 1
92090616658. 2
92090616659. 3
92090616660. 4

Question Number : 65 Question Id : 9209064215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T % weEd-uea Argsfiear 3T % w9 E -

(A) Wl 3N g W B e 2

(B) il = anafas o =g 21

(C) T M 3R god B % THRUTH Fed TiEfoEl 1 Smd i 2
(D) =T e 2|

(E) %W ==d &rfl 3R 399 # 3fg et &, Ir00g Fed &

g feu v feepedi § € wEl 39 w1 994 Hifaw .

(1) (D), (A), (C), (E), (B)
(2) (A), (D), (C), (E), (B)
(3) (D), (A), (C), (B), (E)
(1) (D). (A). (B), (O), (E)

Options :

92090616657. 1
92090616658. 2
92090616659. 3
92090616660. 4

Question Number : 66 Question Id : 9209064216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the per capita production function y = kU'E; what is the level of capital per

capita at steady state assuming depreciation (5 ) = 0.1 and rate of saving = 0.4?
The rate of growth of population is assumed as 0.

1. 4
2 2
3. 16
4. 2
Options :

92090616661. 1
92090616662. 2
92090616663. 3
92090616664. 4



Question Number : 66 Question Id : 9209064216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ufa =fd smred ey = k00 & fom A wEl s 4 wfy =fE o wRown & af geasm
(8)=0.1 31 7= =1 & = 0.4 7 S5 gig 1 @ 0 FEE 2

(1 4 2 2
@ 16 ) A2
Options :

92090616661. 1
92090616662. 2
92090616663. 3
92090616664. 4

Question Number : 67 Question Id : 9209064217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LM curve represents the locus of all those combinations of y and i/ which satisfy

ll L(y, i) for given values of M and P. What is the value ﬂfd—lf' ?

P di
.
IIr'J"r
9 i
L
g
L
& =t
L.‘r’
Options :

92090616665. 1
92090616666. 2
92090616667. 3
92090616668. 4



Question Number : 67 Question Id : 9209064217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LM 6 y 3R | % 37 & "aeql % f9gra =1 welia #m & o feu 7w oam M 3 P % fom

%:L{y,r'} T FAT B %rﬂmw%?

L’ L'y

1 X

l:: } L; I:- '} Lﬂ":
E Ui

® =X (9 =
Li Ly

Options :

92090616665. 1
92090616666. 2
92090616667. 3
92090616668. 4

Question Number : 68 Question Id : 9209064218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose that the manager of a store estimates the probability of any customer
entering the store making a purchase is 0.3. What is the expected number of
customers making a purchase from a randomly selected set of 10 customers?

1. 9
z T
3. 21
4. 03
Options :

92090616669. 1
92090616670. 2
92090616671. 3
92090616672. 4

Question Number : 68 Question Id : 9209064218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 6 et oM #1 TEYS gRE § WEW w9 HE aEs R @dieed F H wiiEea 0.3
HHTd A 21 A ATgfeew B9 H =S4T 10 UEH % @7 § H @iei 1 9 Esl H g
e AT

(1) 3 2y 7
(3 2.1 (4) 0.3
Options :

92090616669. 1
92090616670. 2
92090616671. 3
92090616672. 4

Question Number : 69 Question Id : 9209064219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a random variable X, it is given that E(X?)=16 and E(X)=2.What is the
value of variance for this distribution?

1. 12
2. 14
3. 16
a2
Options :

92090616673. 1
92090616674. 2
92090616675. 3
92090616676. 4

Question Number : 69 Question Id : 9209064219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T x % o E(X?)=16 3R E(X)=2 fem 7 &1 30 51 % & &1 0 41 £7

(1) 12 (2) 14
(3) 16 (4) 2
Options :

92090616673. 1
92090616674. 2
92090616675. 3



92090616676. 4

Question Number : 70 Question Id : 9209064220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the assumptions of the classical linear regression model is that all the
values of the explanatory variable X must

1.  all be positive

2. not all be the same
3. all be negative
4.

average to zero

Options :

92090616677. 1
92090616678. 2
92090616679. 3
92090616680. 4

Question Number : 70 Question Id : 9209064220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAT G 1T FHHEY iz ] UF W91 98 & % AW 91 X & 7A9:

(1) =l g & (2) = w9 T B
(3) @ T ' (4) T 3iET I A
Options :

92090616677. 1
92090616678. 2
92090616679. 3
92090616680. 4

Question Number : 71 Question Id : 9209064221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The solution of the difference equation x; = %xH +3 is

173

1 A EJ (xg—-6)+86
(1 t

2 M= 5] (xg—3)-2
1 ¢

S K= 5) (xg—6)-6
1

4 Xp = EW{X{) +E}+2

Options :

92090616681. 1
92090616682. 2
92090616683. 3
92090616684. 4

Question Number : 71 Question Id : 9209064221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FL AR x1=%x,__1+3 &1 F 2l

|"'1“" .1‘\
(1) X _;EJ (XD—E}-pE (2) Ir:[EJ {xﬂ—E}—Q
:,-'1\.! ‘I.f,1"
@ X _!EJ (X ~6)-6 @ X :@}u{,ﬁuﬁnz
Options :

92090616681. 1
92090616682. 2
92090616683. 3
92090616684. 4

Question Number : 72 Question Id : 9209064222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M
P

The demand for money L=0.25Y and the supply of money — =500. In this

case

1. the LM curve is vertical and defined by Y =2000 and this defines
the classical case

2. the LM curve is vertical and defined by Y =125 and this defines the
case of liquidity trap

3. the LM curve is upward sloping and defined by Y = 2000

4. the LM curve is horizontal and defined by Y =2000 and this is a
case of liquidity trap

Options :

92090616685. 1
92090616686. 2
92090616687. 3
92090616688. 4

Question Number : 72 Question Id : 9209064222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 i L= 0.254 ﬁ@ﬁmﬁgzsnn 21 5 forfa f -

(1) LM =% 3t & 3 v = 2000 = gm gftaifed 8 371 98 g o &1 giaied & 21

(2) LM =% F@Em g 3 y =125 F g ufoafea 21 3f 98 wem 99 % 9me &1 gionfE
FA &

(3) LM% Fm 6 30 geged 2 3y = 2000 % g afonfea 21
(4) LMa% @fa= 2 3R y = 2000 + gr1 9hwifea 21 3 28 Tetan S 1 9e 2

Options :

92090616685. 1
92090616686. 2
92090616687. 3
92090616688. 4

Question Number : 73 Question Id : 9209064223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the expected rate of inflation in India is 10% whereas that in US is
4%. What is the expected rate of depreciation of Indian rupee vis-a-vis US
Dollar, according to the relative purchasing power parity theory?

1. 6%

2. 3%

3. 14%

4. 25%
Options :

92090616689. 1
92090616690. 2
92090616691. 3
92090616692. 4

Question Number : 73 Question Id : 9209064223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o T wma # st wEE @ 10% # 6t 4.UE. § 98 o 4% 21 AnfEE w9 wie e fage &
SRR, .08, ST F1 o1 A 390 % e w1 Al S o g

(1) 6% (2) 3%
(:3) 14% (4) 2.5%
Options :

92090616689. 1
92090616690. 2
92090616691. 3
92090616692. 4

Question Number : 74 Question Id : 9209064224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The economy of INDUS grows at 6% per annum and its investment ratio is
31.2%. What is the capital output ratio of this economy, by the assumptions of
the Harrod-Domar model?

1. 18.72

2. B2

3. 065

4. 46
Options :

92090616693. 1
92090616694. 2
92090616695. 3
92090616696. 4

Question Number : 74 Question Id : 9209064224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T20 &1 WdeHaEd 6% AMYE Hi @ H wEdl 8| W gHE Hew FHTE 31.2% B #e-TiW wiga
T g §H AYSHEE] 1 PE Ie91g I R

(1) 18.72 (2) 5.2
(3) 0.65 (4) 4.8
Options :

92090616693. 1
92090616694. 2
92090616695. 3
92090616696. 4

Question Number : 75 Question Id : 9209064225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Including the Governor of the Reserve Bank of India, how many members are
there in the Monetary Policy Committee?

1. B
2. 7
3. 4
4. 6
Options :

92090616697. 1
92090616698. 2
92090616699. 3
92090616700. 4

Question Number : 75 Question Id : 9209064225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WA Tas &% & e wl e, difgw Hifd afufa 4 e e 20 27

(1) 8 (2) 7
(3) 4 (4) 6

Options :

92090616697. 1
92090616698. 2
92090616699. 3
92090616700. 4

Question Number : 76 Question Id : 9209064226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Committee to review the working of monetary system headed by
recommended monetary targeting in India.

1. D.T. Lakdawala
Sukhamoy Chakravarty

C. Rangarajan

ol

Montek Singh Ahluwalia



Options :

92090616701. 1
92090616702. 2
92090616703. 3
92090616704. 4

Question Number : 76 Question Id : 9209064226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%1 e | difgw el % HE w0 & e % fon afufa wfen F1 03 Fres gr wwa |
wifzs @ Wik =1 wgwE i |

(1) 8. g (2) H@HE Fhadi
(3) . T (4) wieH far HEeETer
Options :

92090616701. 1
92090616702. 2
92090616703. 3
92090616704. 4

Question Number : 77 Question Id : 9209064227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Baumol-Tobin transaction demand for money approach, the
optimum number of transactions is

1. inversely related to income and directly related to transaction costs
and interest rate

2. directly related to interest rate and income and inversely related to
transaction costs

3. inversely related to income, interest rate and transaction costs

4. directly related to income, interest rate and transaction costs

Options :

92090616705. 1
92090616706. 2
92090616707. 3
92090616708. 4



Question Number : 77 Question Id : 9209064227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qz1-Taga & fou aaa-2ifea s9-23 7/ % #EN, oH-¢F # Afuwan w7 -
(1) %19 ¥ ufaam g9y 310 99-29 97 3 =99 21 & =y g9y

(2) =9 o 3R H9 § vy g6y 3R F9-27 9vE 8 wfaem g9y

(3) W, =Nel 3N TH-24 @ § Yiaem SE]

(1) ¥ E, =TEel 3N TH-2F A § Yeaw Had|

Options :

92090616705. 1
92090616706. 2
92090616707. 3
92090616708. 4

Question Number : 78 Question Id : 9209064228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r
a : i . .
If =X and ar—“‘f are the opportunity costs of producing X in terms of ¥ in
ay ay

d Px

Py
countries will go for complete specialization when

countries A and B, an is the international price ratio of X to Y. Both the

;
a d

i LX{JDX{ ";x
gy Py ay

r
5 B Px 8ix
ay Py gy

I
5 8ix_Px 8x
aly Py A4y

Py dyv @
4, X < ’r‘x < LX
Py a vy a y

Options :

92090616709. 1
92090616710. 2
92090616711. 3



92090616712. 4

Question Number : 78 Question Id : 9209064228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.
afe A 3t B 29 & Y @ty § X % seed 1 s ara oLX ﬁnf%&ﬁaﬁt‘r’%mﬁaxam
a vy a

SIS e S %—%|ﬁaﬁﬁfﬁm#@fﬁmmmﬁ-

r r
(1) 8Lx < Px < 8Lx (2) Bix :p—x-i—a"-x
8y Py afy ay Py ay
r r
3) aj%‘f _Px Bx @ Bx. a’;"' < 2ix
ay Pr A&y Py &y @&y
Options :

92090616709. 1
92090616710. 2
92090616711. 3
92090616712. 4

Question Number : 79 Question Id : 9209064229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a random variable X, E(X —pu)* =16 [where p=E(X)]and E(X —pn)% =2.
What is the value of Kurtosis for this variable?

1. 4
2. 8
3. 2
4. 1
Options :

92090616713. 1
92090616714. 2
92090616715. 3
92090616716. 4

Question Number : 79 Question Id : 9209064229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

afe aEfm® = X, E(X —p)* =16 [#8 p=E(X)] 3 E(X -p)2 =2 @ 8 = ¥ fou s
F O TR

(1) 4 (2) 8§
(3) 2 4y 1
Options :

92090616713. 1
92090616714. 2
92090616715. 3
92090616716. 4

Question Number : 80 Question Id : 9209064230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A consumer has a demand function for good X given by D(P)=100-P . Where

P is the price of good X. If the price of good X is Rs.50, the value of consumer's
surplus is

1. ¥1,250

2 ®3750

3. %2250

4. ¥3,050
Options :

92090616717. 1
92090616718. 2
92090616719. 3
92090616720. 4

Question Number : 80 Question Id : 9209064230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
D W W&A (P)=100 - P Tt Iqvirem i fomefi a0 X & fou win vevd 21 5@ P 959 X &1 04
Bl afe X +19eq 50 %, B 11 399 % AMUS H 059 B8 -

(1) 1,250 %, (2) 3,750 %
(:3) 2,250 %. (4) 2,250%.
Options :

92090616717. 1



92090616718. 2
92090616719. 3
92090616720. 4

Question Number : 81 Question Id : 9209064231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The currency to deposit ratio of an economy is 0.2 and the reserve to deposit
ratio is 0.1. The value of the money multiplier is

1. 0256

2. 033

3 3

4. 4
Options :

92090616721. 1
92090616722. 2
92090616723. 3
92090616724. 4

Question Number : 81 Question Id : 9209064231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feref refemrerea Hz1 i 991 3 0.2 2 3 A HI9E F ok 0.1 21 99 F =@ H 0 B -

(1) 0.25 (Z) 0.33
(3) 3 (4) 4

Options :

92090616721. 1
92090616722. 2
92090616723. 3
92090616724. 4

Question Number : 82 Question Id : 9209064232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose z=f(x, y) is homogeneous of degree k. Which of the following
statements is true?

1. f—i is homogeneous of degree (k- 2)
[

.

a
2. —
dyox

4

is homogeneous of degree (k —1)

~2

g E g is homogeneous of degree (k - 2)
ay

.2
4. % s homogeneous of degree (k —1)
& X2y

Options :

92090616725. 1
92090616726. 2
92090616727. 3
92090616728. 4

Question Number : 82 Question Id : 9209064232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e it s z=f(x, y) Figadm am & fafEf@n i e s s aw &7

0z ; 92z

(1) —, (k=2) %1 g™ 91 2| (2) . (k =1) =1 gaWE & 81
dx dydx

: 9%z 22z

(3) 2,(k~2}$rw1?ﬁﬂzrm%t (4) =, (k—1) =1 g=dia =4 2
dy dxdy

Options :

92090616725. 1
92090616726. 2
92090616727. 3
92090616728. 4

Question Number : 83 Question Id : 9209064233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Second-order Taylor series approximation of f(x)=In{1+x) at x=0 is

2
X
1 X——
2
2
X
2 X+—
2
2
3 —X =il
2
2
X
4. —X+—
2
Options :

92090616729. 1
92090616730. 2
92090616731. 3
92090616732. 4

Question Number : 83 Question Id : 9209064233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x=0 W f(x)=In(1+ x) = fgfa-+a TR F@en =1 I90E 2 -
(2) X+ —

3  —x-= @ —x+—
2

Options :

92090616729. 1
92090616730. 2
92090616731. 3
92090616732. 4

Question Number : 84 Question Id : 9209064234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tobin's g ratio refers to

1. the ratio of the market value of the firm's assets to the cost of
producing those assets

2. the ratio of the cost of producing assets to the market value of the
assets

3. the ratio of the PBT (profit before taxes) to the market value of the
firm's assets

4. the ratio of the PBT (profit before taxes) to the cost of producing
those assets

Options :

92090616733. 1
92090616734. 2
92090616735. 3
92090616736. 4

Question Number : 84 Question Id : 9209064234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 1 g FHIE g9 # -

(1)  foslt vl & afEnfeadl &1 39 giEafeE % Jemed i @ &1 9ER 55 S S0
(2) Tl o & qiEYeEl % IeTEA i SR 1 A0 S giET el 5 A "R )
(3)  wH & giEIfaEl % =9 g & fou PBT (3 9@ &™) %1 #{7E|
(4) A viEefeEl % 309 % @rE & fau PBT (9 @ @) F1 39|

Options :

92090616733. 1
92090616734. 2
92090616735. 3
92090616736. 4

Question Number : 85 Question Id : 9209064235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose that for a random sample of size 10, the value of covariance between
two variables X and Y is 100 and the standard deviations of X and Y are 5 and

20 respectively. What is the value of regression coefficient in regression of Y
on X ?

1. 4

2. 20

3 1

4. 0.25
Options :

92090616737. 1
92090616738. 2
92090616739. 3
92090616740. 4

Question Number : 85 Question Id : 9209064235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T wiftae 7 fFh agfes 70 =1 =R 10 B, 91 90 X 3R Y % 99 #8fgem 1 969 100 8 37
X 3R Y %1 o fage #99: 5 31 20 81 @ X W Y & qimE 8§, FEvis 9 & AF #4267

(1) 4 (2y 20
(3) 1 (4) 0.25

Options :

92090616737. 1
92090616738. 2
92090616739. 3
92090616740. 4

Question Number : 86 Question Id : 9209064236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : Between 1901-1951 in India, the relative product per worker
in industry increased from above average to far above
average and the relative product per worker in agriculture
decreased from below average to even further below.

Statement—Il : Between 1901-1951 in India, deindustrialization definitely
occurred.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement |l is true

Options :

92090616741. 1
92090616742. 2
92090616743. 3
92090616744. 4

Question Number : 86 Question Id : 9209064236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s wsEfermu g .

FYA1: WA | 1901 § 1951 % ==, IO § Y IG Giq FEEAl G § AE 9 gg A
H AAUH B T AN FY G HUG I T FERA SHd H FH H 92 HET H A=

# TE|
HA IL:  9d | 1901 & 1951 % =9 ffv=a &9 8 sHmaniwm 23001

I FHIF & A |, = Zu T e § 9 7e0 30T I 6 964 i

(1) A 130 1A 58 &

(2)  FF 13 IEH T

(3) WU 19l 2, wieA H4A 11 7Ted 2

(4) YA 17 B, dfe FeE I EE 2
Options :



92090616741. 1
92090616742. 2
92090616743. 3
92090616744. 4

Question Number : 87 Question Id : 9209064237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—Il with List=Il :

List-| List—Il
[Utility functions U(xq, x5)] {MF{S,..TI x,)
(A) | Cx@ B () | ~(x+1)
(x1+2]
(B) | (X1+2)(x2 +1) (1) (x a-1
-
(C) | axy+byfxg (1) | —ax,
bx1
©) | (4 +x§) V)| 285
b

Choose the correct answer from the options given below :

1. (A=) (B)=(Il); (C)-(); (D)-(IV)

2. (A-(); (B)-(IV): (C)=(I1): (D)~(1)
3. (A(IIl); (B)1): (CIHIV); (D)~(II)
4. (A); (B-(V); (C)-(I); (D)1l
Options :

92090616745. 1
92090616746. 2
92090616747. 3
92090616748. 4

Question Number : 87 Question Id : 9209064237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=-1 % 919 J=51-11 =1 s fifae

-1 =11
ERRUAGIREaE] (MRS, x,)
@) Cxfxb =
(x1+2)
B) (x+2)(xp2+1) (s a1
@ ==k
txz
.bX1
@) (x§+x3)° 2a,fx,
M g

4= feu mu feeeei § O 9E I F =9A Hifav

(1) (A)-(1T), (B)-(11D), (C)-(I), (D)-(IV)
(2) (A)-(ID), (B)-(IV), (C)-(II). (D)~(I)
(3) (A)-(IIT), (B)-(D), (C)-(IV), (D)-(1I)
(4) (A)-(I), (B)-(IV), (C)-(IT), (I)-(I1I}

Options :

92090616745. 1
92090616746. 2
92090616747. 3
92090616748. 4

Question Number : 88 Question Id : 9209064238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let A =[p —QJ be a 2 x 2 matrix.
q p

A.  The rank of matrix A given by r(A) is 3

B. Matrix A is orthogonal if and only if p® + c;r2 =1

C. Transpose of matrix A is given by AT =[ F:? E]

D. Determinantof matrix Ais |Al=p
Choose the most appropriate answer from the options given below :
1. Aand B only
2. AandConly
3. BandConly
4. AandD only

Options :

92090616749. 1
92090616750. 2
92090616751. 3
92090616752. 4

Question Number : 88 Question Id : 9209064238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT 2 % 2 %EIEE%%QA={2 _;]%|

(A) r(A) g0 Y& FTHE A S IE 3 B

(B) ¥EIE A wEHINE #, Hae @l afe p? +q2 =1

(©) AT:{H q] BRI YEd FTSE A % fada 21
-q p

D) F=E A% 9= |Al=p

Jr= fau U femmedi § | HEH I0gE I H 994w
(1) a4 (A) 3R (B)
(2)  #FEd (A) 3 (C)
(3) =4 (B) L (C)
(4)  aEd (A) FR(D)

Options :

92090616749. 1
92090616750. 2
92090616751. 3
92090616752. 4

Question Number : 89 Question Id : 9209064239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following points lie in the convex set of points (2, 3) and (4, 1)?7

A (36,14)
B. (1.2, 38)
C. (24,26)
D. (0.4,4.6)

Choose the most appropriate answer from the options given below :
1.  AandB only
B and C only

A and C only

A W N

B and D only



Options :

92090616753. 1
92090616754. 2
92090616755. 3
92090616756. 4

Question Number : 89 Question Id : 9209064239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefafaa faged 4 & =-m, fagafi (2, 3) 3R (4, 1) % F9die g=4 § o 27

A) (3.6, 1.4)

® (1.2,3.8)
© (2.4,2.6)
@) (0.4, 4.6)

Jr= fou mu famedi € 9 56 TR w1 99 Ffaw
(1) %A« (A) 3 (B)
(2) a4 (B) 3R (C)
(3  =HEA (A) FR(O)

(4)  =Had (B) 3 (D)

Options :

92090616753. 1
92090616754. 2
92090616755. 3
92090616756. 4

Question Number : 90 Question Id : 9209064240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a competitive market :

Suppose per unit commodity tax is imposed on the sellers,

A. atax on the commodity creates a wedge between the price the buyers pay
and the price which sellers receive.

B. post tax equilibrium quantity increases.

C. if the supply is more elastic than demand then the tax burden falls more
heavily on buyers.

D. if the demand is more elastic than supply then the tax burden falls more
heavily on buyers.

E. imposition of the tax creates dead weight loss.
Choose the most appropriate answer from the options given below :

1.  Aand C only

2. CandE only

3. AC,Eonly

4. BandE only
Options :

92090616757. 1
92090616758. 2
92090616759. 3
92090616760. 4

Question Number : 90 Question Id : 9209064240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



% gfgordi == w faan Fifau) om #ifae & fras «w ofa =0 f5m (o) == = 3 2
(A)  Tom Fmifed m Hmai % PEE qea iR s g W e F 49 an giea w6 2

(B)  wWuTia & He A gl 2

() 3fg smgfd mim & sifas FE 2 9 = w5 9w FWe W s w8 i g R

(D) afe wm smfd @ sifas FEq 2 @ % 9g SAH W AEhS 9 3 9iiE g 2

(E) & %1 ARV g9 (82 92 @1id) giead +2a1 2|

Jr9 feu mu fawedi § € O 39 W =99 it
(1) == (A) 3 (C)

(2) FAEE (C) F(E)

(3)  wEA (A), (C) I (E)

(4)  ¥ad (B) #R (E)
Options :
92090616757. 1
92090616758. 2
92090616759. 3
92090616760. 4

Question Number : 91 Question Id : 9209064241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the order of occurrence starting from the earliest to the
latest :

A. Ayushman Sahakar Scheme
B. Samarth Scheme or Scheme for Capacity Building in the Textile Sector.

C. Ayushman Bharat Programme or Pradhan Mantri Jan Aarogya Yojana
(PM-JAY).

D. PM Kusum Scheme
E. National Policy for Skill Development and Entrepreneurship

Choose the correct answer from the options given below :

1. D,C,AB,E

2. EBCDA

3. ABCDE

4 B,E,ACD
Options :

92090616761. 1
92090616762. 2
92090616763. 3
92090616764. 4

Question Number : 91 Question Id : 9209064241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfefa %1 37 afen #1 % %9 0 594 980 § 594 HAl0H 5 ATER =atesd Hifan)
(A) YA TR

(B) =9 &3 ° wnd A1 F e i 3

(C) AT 9NA FEHA I TIH9 T ARF a1 (PM-JAY)

(D)  PM FHH 3=

(B) = T il afam % fou odim ifa

Hi= feu mu fasheai § | |6 I w1 =994 Hif

(1) (D, (), (A), (B), (E)
2)  (E), (B). (C), (D), (A)
3) (&), (B, (C). (D), (E)
4)  (B), (E), (A), (C). (D)

Options :

92090616761. 1
92090616762. 2
92090616763. 3
92090616764. 4

Question Number : 92 Question Id : 9209064242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i A
eBiﬂx - 541nx

AT
‘k IE‘_rﬂflmf _EZQHXJ

Bx 4 x
-8
1 4 x 2x+c
5 3
X X
2. —+—+C
3
5 3
X x
3. B
- |
4 x 2x
4 EE il
x_ex

Options :

92090616765. 1
92090616766. 2
92090616767. 3
92090616768. 4

Question Number : 92 Question Id : 9209064242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f
ghblnx _ gédinx

dlnx 2Inx e
e - g

g

LY

Bix 4 x 5 3

g~ -8 X X
(1) —_—tC 2) —+—+C
de _ sz 5 3
5 3 dx 2x
(3 .. +C (4) i-+ C
5 3 62.:: —e*
Options :

92090616765. 1
92090616766. 2
92090616767. 3
92090616768. 4

Question Number : 93 Question Id : 9209064243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An industry has two firms. They face an inverse demand function P =200-4Q

and a constant unit cost of Rs.8.0. The Cournot duopoly equilibrium price (P)
and Quantity (Q) will be

1. 8, 48 respectively
2. 72, 32 respectively
3. 104, 24 respectively
4. 8, 24 respectively

Options :

92090616769. 1
92090616770. 2
92090616771. 3
92090616772. 4

Question Number : 93 Question Id : 9209064243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH FG H 7 HH Bl 9 TH Wide™ 2 wwE P =200 -4Q 1 5EA1 Fd1 8 3 T 5 e
8.0 %. &1 @ ATz fgufawrl audeas q=4 (P) 3 wmn (Q) #rhft -

(1) HHE: &, 48 (2} wHHE: 72, 32
(3) wHE: 104, 24 (4) HHEI: 8, 24
Options :

92090616769. 1
92090616770. 2
92090616771. 3
92090616772. 4

Question Number : 94 Question Id : 9209064244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The simple neoclassical Solow model assumes

1.  Hicks-neutral technological change

2.  Harrod-neutral technological change

3. Solow-neutral technological change

4.  Pareto-neutral technological change
Options :

92090616773. 1
92090616774. 2
92090616775. 3
92090616776. 4

Question Number : 94 Question Id : 9209064244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 79~ \iell 9faey wfoaa # 2 -

(1)  Teem-sera a6 afad (2) #TE-TeHA TRl TfEdA
(3)  HE-IeEA TR O (1) WEI-TeEA TR aiE
Options :

92090616773. 1
92090616774. 2
92090616775. 3
92090616776. 4

Question Number : 95 Question Id : 9209064245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



jmu"dﬁ ?

X

1. L. +C
In100
100

9, AR
In100
x+1

3 100 +C
x+1
x—1

4. 100 +C
x-1

Options :

92090616777. 1
92090616778. 2
92090616779. 3
92090616780. 4

Question Number : 95 Question Id : 9209064245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J‘lDG“dx='?
X 100
(1) LL Y, R
In100 In100
x+1 x—1
(3) 199 +C (4) 100 +C
x+1 x=-1
Options :

92090616777. 1
92090616778. 2
92090616779. 3
92090616780. 4

Question Number : 96 Question Id : 9209064246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find g—iifo1+y+yJ1+x:D.

-1
1; 5
(1+ x)
2
2.
(1+x)
3. =t
1+ x
1+x
1+y
Options :

92090616781. 1
92090616782. 2
92090616783. 3
92090616784. 4

Question Number : 96 Question Id : 9209064246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg x\1+y +y¥1+x =0 @ %Hmmﬁm—
X

-1 2
i (2)
(1+ x)? (1+x)
-1 1+ x
(:3) (4)
M1+ x 1+ y

Options :

92090616781. 1
92090616782. 2
92090616783. 3
92090616784. 4

Question Number : 97 Question Id : 9209064247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the slope coefficient in regression of Y on Xis 15. What will be the slope
coefficient in regression of Y +10 on X -57

1. 25
2. 10
3. 15
4. 20
Options :

92090616785. 1
92090616786. 2
92090616787. 3
92090616788. 4

Question Number : 97 Question Id : 9209064247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M wifae i X W Y = gfame 4 o 98 15 B A X -5 W Y +10 & ufermE | 2 5anE
1 7m 7

(1) 25 (2) 10
(3) 15 (4) 20
Options :

92090616785. 1
92090616786. 2
92090616787. 3
92090616788. 4

Question Number : 98 Question Id : 9209064248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the distribution of weights of students in a college is normal with mean
60 kg and standard deviation 3 kg. Which of the following areas from the standard
normal distribution gives the probability of a randomly selected student having
weight less than 66 kg?

1. Areatothe left of z=-2

2. Areatotheleftofz=2

3. Areatotherightofz=2

4. Areato the right of z=-2
Options :

92090616789. 1
92090616790. 2
92090616791. 3
92090616792. 4

Question Number : 98 Question Id : 9209064248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR wifae & et =ice 8 o % 997 F1 9w 60 kg 919 < 919 59F & 991 o f9=9ed 3 kg B

s JW famm § Fafafed § 8 #1989 ages ®9 8 99Hd ol %1 wiawa g & e
T 66 kg H FH B 7

(1) z=-27% 915 AR F & (2) z=27%% 91 AN &
(3) z=27%TE AW F HF (4) z=-27F T AW F &I
Options :

92090616789. 1
92090616790. 2
92090616791. 3
92090616792. 4

Question Number : 99 Question Id : 9209064249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If you draw a random sample of size 25 from a population whose standard
deviation is 10, what will be the standard error of sample mean?

1. 20
2. 2
3. 4
4. 04
Options :

92090616793. 1
92090616794. 2
92090616795. 3
92090616796. 4

Question Number : 99 Question Id : 9209064249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfg 39 ot SEEm | 25 % AR &1 U Ao A sHiEd #6d # e aes famem 10 2 @
T W i o qfe 7 w7

(1) 20 D 2
) 4 (4) 0.4
Options :

92090616793. 1
92090616794. 2
92090616795. 3
92090616796. 4

Question Number : 100 Question Id : 9209064250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fully sterilized intervention by the Central Bank at the time of capital inflows leads
to which of the following changes in Central Bank Balance Sheet?

1. Rise in net foreign assets and decline in domestic assets
2. Decline in net foreign assets and rise in domestic assets
3. Rise in both net foreign assets and domestic assets
4.

Decline in both net foreign assets and domestic assets



Options :

92090616797. 1
92090616798. 2
92090616799. 3
92090616800. 4

Question Number : 100 Question Id : 9209064250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl % 3A: VAR % WY 4 &% g 4R | Qe W e S 9w e @ % qe-m b
frfafea § 3 e von =1 oiEds = 27

(1)  Tra= faesh snfeml | agmdt oif we snferal 5 g

(2) Faw feeh snfeEl § @ s g feEl § sgied

(3) o= fagsh snfeaal s @ie snfeal g1 o s

(0 T faEsh snfaei 3 =i anfeei 241 1 5

Options :

92090616797. 1

92090616798. 2

92090616799. 3
92090616800. 4



